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These worksheets are designed to complement the second edition of Teach Yourself
Hindi (2000), units 1-15. They can be used simply as additional exercise or homework
material when working through the units; but they have been designed primarily for
revision work, and are best done some time affer the particular unit has been completed.
For example, an ideal time to do the worksheet for Unit 6 would be after completing
Unit 7.

Each worksheet ranges fairly freely over the grammar of the unit. Any vocabulary that
hasn’t appeared before will be found in the Glossary at the end of the book.

A very good way of coming to grips with new grammar is for the learner to try to analyse
and explain it for his or herself: the student becomes the teacher. With this in view,
several exercises involve identifying the grammatical construction of given sentences.

It’s a good idea to translate al/l the Hindi sentences, even when not specifically asked to
do so in a particular exercise.



UNIT ONE

Explain the difference in meaning between the following two sentences :

¢ U3 qwET g4 _:Qr | yah pankha purana hai.

R Ig A awET _:Qr | yah purana pankha hai.
Translate:

3 TE AT ST g | yah mez bari hai.

¥ dg EEIEE] % | yah bari mez hai.

& g EE{_EIQF = % | yah kursi acchi hai.

s AT AEHT HLET € | yah acchi kursi hai.

7 These houses are very old.
8  These are very old houses.
9  Those cars are beautiful.

10 Those are beautiful cars.

Now go through the entry from Pratap’s diary in Exercise 1b (p. 27), and identify the

subject(s)and verb(s) in each sentence.

Answer the questions on dialogues 1a and 1b:

22 TS HAT 2 R3j kaisa hai?

2 T IATT SRS % ? kya Pratap angrez hai?
23 AT ATST ST 2 kya gari japani hai?

9 T FHR WIS % ? kya kamre chote hai?
2, FAT AAHTT GTAT B 2 kya almari khali hai?
v, T faeer oer g 2 kya khirki choti hai?

29 FT HHIT gaTX % ? kya kamra havadar hai?

Explain how the following adjectives would show agreement with the nouns
FARI almari (f.), IFRTRAT almariya (fpl.), FRT kamra (m.), and ¥4 kamre (m.pl.).

¢ BT chota
% 9 sat

%0 HTAr khali
R graX sundar

RSl bara
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Change the following from 9 tum to 39 ap:

2 FT qH feegEarr ar 2 kya tum hindustani ho?
¥ JH dgd Jra) Al tum bahut sundar ho.
% JH AN T &l 2 tum log thik ho?

and from 39 ap to TH tum:

% T qTfhedTT 3 | ap pakistani hai.
29 ST ATT STATHT 3 2 kya ap japani hai?
¢ AT ATT AR S % ? kya ap log angrez hai?

Now go through sentences 23 to 28, making them all negative.



UNIT TWO

Explain the different functions of the word T kya in the following two sentences :

T Jg TSAHIT g 2 kya yah sabdkos hai?
2 AT HTE? yah kya hai?
Translate:
3 9g ATSHT FI9 2 2 vah admi kaun hai?
¢ ST HIGH g TaX ¢ | aj mausam bahut sundar hai.
o 7T fohaw AT 2 2 yaha kitne log hai?
5 3 foRATe FTERT HEIT G ye kitabé kafi mahagi hai.

7 How many letters are there?

8  How are you today?

9  Are Pratap and Sangeeta both tall?
10 They are not very happy today.

Re-read Pratap’s postcard on page 35, then answer these questions:

22 WATSIT FE ATEHT 2 2 sarma ji kaise admi hai?
22 forae famrmeft 22 kitne vidyarthi hai?

23 ot STTOTHT efRat € 9 kitni japan larkiya hai?
% T A HIST % ? kya ve moti hai?

2, faodl daT W T 2 dilli kaisa $ahar hai?

% TSl HIGW HT % ? aj mausam kaisa hai?

Following the format of Pratap’s postcard, write one of your own — about your class,

and the town where you are at the moment.



UNIT THREE

Explain the grammatical case of the underlined words in the following sentences :

¢ AT IATT AT T X3 2 kya Pratap aj ghar par hai?

2 R H foRaa @ 2 kamre mé kitne log hai?

3 TR FRAAISG is bare kamre mé do mezé hai.

v TR IFHR § e A 2 | tumhari almari mé kaf cizé hai!

o TRER FIS W FR A | tumhare kapre mere kamre mé hai.

Give answers in Hindi to the following questions in English:

6  How many chairs are there in your room?
7 Are Prakash’s glasses in the bathroom?

8  Are there pictures on your walls?
9  How are you today?

Answer the following questions about the illustration on page 29:

20 AT 9T fRadT qER 3 2 divar par kitni tasviré hai?

v AL JER A T8 2 dsti tasvir mé kya hai?

2 JER ¥ fohas @ % ?  hiF %’ ? tasvir mé kitne log hai? ve kaun hai?
23 S IR T FAT G 2 mez par kya kya hai?

[Repeat of T kya indicates ‘what different things?’]

Choose the correct pronoun, explaining your choices:

w AR A1 SHIEES FHH % | mera/mere dost us/vah kamre mé hai.
1, TGRE ASHT agd IR E | yah/is larka bahut hosiyar hai,
% AT/AR foars 8RR F#A | % | mera/mere pitaji mera/mere kamre mé hal.
0 /[ IS § AT T G 2 vah/us daraz mé kya kya hai?
¢ B/FT AR HTHRI Hra) % ! ye/in log kafi sundar hai!
Translate:

. 3H 918 (qFE) § 5 AR =15 & | s path (viinit) mé kai muskil cizé hai.

20 T AAHTIAT & FAT T § 2 in almariyé mé kya kya hai?
2 FRET g e & %’ ? varanasi kis prades mé hai? [J39 prades m. ‘state’]
R FET Rg I A %’ ? karaci kis des mé& hai ? [39 de$ m. ‘country’]

2 39 AT ¥ fhad == % ? us gav mé kitne ghar hai?
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25
26
27
28

In our country there are many big cities.
There are chairs in all the rooms.

How many people are there in your room?
How many states are there in India?

How many books are there on your table?



UNIT FOUR

Rewrite Dialogue 3a (p. 39) in the past tense, removing the word s ab from the last line.

Identify the possible implications of the word @ to in the following:

3 Ef?ﬁ?ﬁ?g | mai to thik h™.

R AR Arar? tum thik to ho?

3 el AT THA G 9 AT | kal to Rames ghar par tha.
v THI QT A 9L AT | Rames to ghar par tha.

o fE=<T QT FTET AT B | hindi to kaii asan hai.

Answer the questions:

5 FAT HIRT §39€ § 4TS 9T 2 2

oF (ifyowremale) AT 3TTT 307 Hod 3= aed & o @ ?

v (if you're female) T 3ATT AT T =61 TgeAl F @il 2 2
¢ T AT HEA ATIH oL F SHTET T & 2
¢ T ATTHT AR AT HEe & SHTET Geaz g ?

20 ITY AR H Tod g =t hid 3 2

6  kya bharat inglaind se zyada bara hai?

7.a (if you’re male)  kya ap apne sabse acche dost se lambe hai?
7.b (if you’re female) kya ap apni sabse acchi saheli se lambi hai?
8  kya taj mahal apke ghar se zyada purana hai?

9  kya apka ghar taj mahal se zyada sundar hai?

10 apke parivar mé sabse hosiyar vyakti kaun hai?

Identify the grammatical subject of each verb in the following:

3 ﬂ?ﬂﬁ W%l [transliterations for 11-16 on next page]

' 97T 1 AR 9T |

vy AT ST & 7 75 foRed agd w6 2 |

v TRERT W g fF TS e few g o

v, IHRT FEAT AT FF SO fergEaTT AT 0EE g |

% AT Tg a1 AW el AT fF 3 AR fRaw dgAd € |
11 mujhko zukam hai.

12 papa ko bukhar tha.
13 dadi ji ko ye nai filmé bahut pasand hai.

14 kisko malam hai ki aj kaunsa din hai?
15 unko khusi thi ki apko hindustani khana pasand hai.
16 hamko yah bat malim nahi thi ki ye log kitne mehnti hai.



UNIT FIVE

What is the grammatical difference between these two sentences?

g %ﬁ—g’\, T FHL T qTh FT | Choti, is kamre ko saf karo.
2 B, A FHIT HTE F | Chotii, yah kamra saf karo.

Translate each of the following sentences in the same two ways as above:

3 Rishi, read this letter and then clean Sangita’s room.
4  Please write his name in that book.

5 Close the door.

6 Make the food ready [use T AT taiyar karna).

Why does #T ko have to be used in these two sentences?

o FA & A FeA AT | kutte ko yah kambal dena.
¢ YgIH FT FATAT o TIAT ATST AT % | Suhas ko batao ki Sangita thori naraz hai.
Translate:

9  Tell me that man’s name.
10 Give these books to my teacher.

From which of the following sentences can T ko be removed, and why? What else
changes as a result?

8% THAIH ST [ 7g fehare o | Amrik ji ko yah kitab dijiega.

2 T A I T U | is patr ko parhie.

23 TdTT T T AT | Pratap ko na maro!

e T gF TSl KT AT | in sab cizé ko lijie.
Translate:

15 Give this milk to Raj.

16 Drink this tea.

17 Clean the windows.

18 Write a letter to my father.

Explain the meaning and grammar (case, gender, number, agreement etc.) of the
underlined words:

EXAMPLE: HX VTS o[ SITITHT ST 98e A2l & | mere bhai ko japani khana pasand nahi hai.

St - . & a7
HY mere  “my”: lst person possessive pronoun, agrees with {1 bhai
¢ . . . "
HT= bhai  “brother”: type 2 masculine noun, in oblique case before postposition & ko
A
% hai “is”: 3rd person singular of % T hona: agrees with the subject @11 khana
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% TIAT R (T T G g _foF FAAT ST A7 =9 0% G 2 |
0 TS ALATIF ST EX R g IR 38 AT TAR 2 |
2 el Al 30 BI FAX § A7 @17 92 9 AT o7 fqs, afeq ST ag7 &2 2 |
R =41, ATAT 1 ATSAT 9l | S7 IThT T |
2 W T § F=d1 8§ KT g IR 3 |
19 Sangita aur Rsi ko khusi hai ki Kamla ji aj ghar par nahi hai.

20 aj adhyapak ji ghar par hai kyoki unhé thora buiikhuiar hai.

21 kal to is chote kamre mé nau log baithe the lekin aj sirf pandit ji baithe hai.

22 bacco, caca ki cabiya lo. inhé unko do.

23 mere khyal mé bacco mé se Rsi sabse hosiyar hai.

Translate:

24 My father is pleased that these books weren’t very expensive.

25 Your uncle was angry because he didn’t know that my brother was here.
26 Both the students are at home today because they have a fever.

27 The teachers didn’t know that you were ill too.

28 Read this book attentively and then write the answers to the questions.

Isolate the embedded question in each of the following sentences:
EXAMPLE: % & qf5q £ 211 #2f @ | (embedded question: TS Fgf & ?7)
03 w2 & AT T TS e faT 2
30 STRTET & AT ¢ 5 FHAT T @A 7 € |
22 SATT T ATAH A&l o7 Ff <da2 7 7aqe 7 2 |
R O F el R HT FEA FAETE |
1 fRger wTew g fF @t amhe w8l € 2

Embed each of the following questions into a sentence of the type given above:

3 “TheeT” T GAAST FIT G 2
3.('\. G‘ga?” 31%? 4‘q€|—:”7 ﬁlw;ﬂ(\% ?
%, T AR T qade 747 2 ?

W TS HAIGAT AR 9T AT AL g 2

3¢ HIFET FhT ATIHRT 2 2




10

UNIT SIX

Fill the gap with an appropriate subject (noun or pronoun):

g

R

2

3

o,

%0

JUAT ST H AT o [fora=T] foF <7 qgT8 & 912 ........ [T
I IAL ATE TAH ..o Regul

TAAT & qEAT e [ST=AT] fof SeiaT a=r wT ESull
AT oo [FgAT], “foaarstr sraeT Fferma &1 eam= 481 ........ [TaT]”

Explain why 3194 is used in the following sentences:

%8

R

%2

135

3G

SR ST AT AT @q et g |

SEGIRCIGIREIS] ﬁ?ﬁﬂxﬂqrﬂ HTHTA ?I"Jl( ahﬂ— |
ZIFT ASH AU 1T F T IR qIF g |
SIS 9 o § Fgdl & o T AT =TT S & FE1 =7 |

§ AT § T a8 SO T Sgd ST & T g |

Explain why 3194 is not used in the following sentences:

%8
29
8¢
N
Q0

2 SAd ¢ o AR ST T T g |

FT TEAT & T “HRT WS FLT &2 ATFT AT Aeq AT AL AaT |
H Srar § fF AR ATl wTed agd 9= e § |

TS 31X SEHT ATS &1 (GHT ST B |

FTATST T AT ATAH AT 5 I =ATfaT Fgf € |




Translate, taking care when to use 39T and when not to:

21 Suhas lives in his friends’ house.

22 1 speak my language but I don’t speak yours.

23 My friend and my brother both drink.
24 1 work in my brother’s company.

25 1 often think about my childhood but I don’t tell my children about it.

Translate:

S A

Translate:
for you [39]
towards you

about them

T AT da<hH
a7 a¥g
X & 3ET

for you [qH]
for them

behind him

T aF
IR EES

Y % gl

about this
near her

under this

T fau 2
=R fau

[

.
)
(

after me
inside the house

under the blanket

3k AT

gu fag

after tomorrow
outside the door

towards the door
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UNIT SEVEN

Change the tense from past to present or vice versa:
t AT TEAT AL WIS § OIR HEdT B |
2 W grEdr of fF fa3ef @ 20 8 981 98 o |
3 A9g 2 g dgar o & gf, sreamaek S faer & areHT 2

¢ WA BT & T qH ST agd Wedd FdT 2 |

la¥ ~

6 SATT T fEeal STt off; a8 gHAT AT A7 qaq iR # fofaar a7 |

Translate:

6 Idon’t know where your friend and his wife live.

7  At[say ‘in’] that age we used to like samosas a lot.

8 T used to ask the most difficult questions and he used to reply.

9  He reads a lot of books but he doesn’t think much.

10 Grandmother always used to say that there’s a big difference between good and bad.

Explain the following uses of @ and #T%/ f#T, noting function, case and number :

% TS AT AT MY |
2 AT 29 JTET AR § 5 2l Q|
13 EAR THR § AIS 9-aT%E AT o |

w TET & 9B 5 TR af=e aue FT 799 #47  |
s, S A % ITEL IS ST @Sl o7 AR ST e IS A3 AT |
w TG A AT FH TR 20 AL, 59 MG | a7 g ThT AL S |

Translate:

17 He knows about five or six languages.

18 Some foreigner is sitting in that other room.

19 She says she doesn’t know anybody.

20 Intoday’s dream some woman was sitting outside the gate of heaven.
21 After some time someone or other always asks me this question.

22 Nobody understands my Hindi.
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Identify the grammatical subject in each of the following sentences:

3 STEATIH ST T 72T =LA AT1RY |
W AT & FE TC FIS HT A&2q AT |
e FT T AT 0H ?

%, TS TATT T 230 qTeX &1 95 fare 921 A11gq oF |

20 T QeI & @ e € |

Translate, using =T2T :

28 Who needs this newspaper?

29 Do you need something, my old friend?

30 No, I don’t need anything at all.

31 Did you need something yesterday?

32 Yes, I needed all three books but I didn’t know where they were.
33 I need these things right now because the shops shut at six o’clock.

Translate, using FT S& :

34 Ineeded some clean clothes.

35 They say they need both cars today.

36 Some of my friends [say ‘my some friends’] used to say that they needed some help [#a< f.].
37 The door is open, so we don’t need the key.

38 Even in the summer you need a light blanket.

39 Who needs heavy clothes in this weather?

UICIEN
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UNIT EIGHT

Change the verb from imperfective to continuous:

# s=aT T9T FATGT E |

RO AUAT ATST AR, AT AT kT TSI FATAT AT |

AT AT HT 8T SATET G FLd 2 |
I T gH AR 978 19 2 |
TS A T TR T AT ar e

Change the verb from continuous to imperfective:

g

9

4

g

%0

# fergearet =TT a9 @ g |

g T Treq FoRaT faaefT ST & T T TgT o7 |

JTT AT §T & qoAT AT ST 3 @8 |

TTEIS(T & & que 39 @l 2 |
AT qH AT 2=l v @ o 2

Translate:

11
12
13
14
15

Your uncle was saying that Sangeeta dislikes me.
How do you know what Khanna ji is doing today?
My parents were asking us about Pratap’s friends.

Some mechanic was fixing someone’s car outside our house (mechanic AT m; to fix ST FZAT).
We used to live in Delhi but these days we’re living in Uttaranchal (STX=1l m).

Explain the choice of ‘possession’ expression in the following:

%8

20

34

S

20

o™ o 919 o= F0F o, TR & 919 29 |
T g AT A1 AR AT A1 o2 2 |

~ o

TR OTE 9gd AT RS g AR R fewT #1 fRam

W ATET F IS F FA A {GF TF AT |

S QRTAT TR o A gHIKT AT T TR0 T |

Translate into Hindi, then answer in Hindi:

21
22
23

How many brothers and sisters do you have?
Do you have a car?
Do you have a cold today?

SRl
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25
26
27
28

15

How many hands does Shiva have? [answer: 4]
Where do you live these days?

What time do you usually get up?

What’s today’s date? And what was yesterday’s?
What do you do in the afternoon?
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UNIT NINE

Change the verb from present to future:
v A 32 T I9T WO ¢ |
2 # R T FB =W IR =T |
3 WY afga fave 9 gt I |
® EW%‘TQ’@E%% I

6 W HAE A AU Sl [ fhdaw oS SEEAT B 2

Complete the following sentences with a future-tense verb:

5 EIAT GETE 6l 1T H A&l ..., [ FamT | |

9 T QAT IaQTT & fodr o [ Tg=THAT | 2

¢ T AR IS AT fRAT T [T ]

< UAT Agl, ATET ST FTH A OEG ......... [ AT | f& =g
to ¥ TIAAT ST FETH & I 8L ......... [ ST ] |

Translate:

11 Rishi’s very lazy, he won’t shift from his chair.

12 Pinki says that her family will bore Sangeeta.

13 You will reach home by ten o’clock. [Translate using J, T and 31T9]
14 We will tell you what we need.

15 Someone will be coming by train tomorrow morning.
16 They must/will be opening our letters.

17 You must be thinking that I’'m crazy.

18 The children must be asking for new toys.

Complete the following in such a way as to bring out the emphasis that I brings to each
sentence:
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Translate:

22
23
24
25
26

What’s the point in telling me this?

We’re going to Germany to make money.

There’s no need to bring any food, we’ll all go to eat at Ram’s place.
I can drive a car but I can’t swim.

Tomorrow night we’ll all go to see some film.
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UNIT TEN

Change the imperative verb to a subjunctive verb:

¢ Y &hel 0d doh 919 ATY |

2 AR U T 5 =T TR ST |

3 TTsT dgd g9l g TATRY |

¢ TOAT HTH FZT AT T HA |
o ZH AMAR W & 7 @A |

Complete the following sentences with a subjunctive verb:

s T9F g TR Fa Td a JqTT W amas 1 [ ST |

o B ALATYS AT @ (o # 373 o7 fgear & ... 1 [ fower |
¢ FTH R e F 9% fHare See & . 2 [ WEmT |
« mEFgfFEwRafaar®. .. 1 [T ]

w0 =ATedT & B g ge e qw dr L1 [ firer |

Translate, using subjunctives for all the italicised verbs:

11 May I go with you too?

12 Please don’t sit on that old chair.

13 Why does she want us to eat with a fork?

14 You are requested not to smoke.

15 1If Suhas comes here today, tell him I love him.

Complete the following:

%, 3T Heo[-ATAT 3T, Al . . .
29 SV QW T 79 gl qHEdT ar . L.
% 3T &I ST T @I ar . . .

16 IR ST JERT TR TEEE ..

20 3R A FAT SATHATAT BT . . .
Translate the following pairs of sentences:

21 1wantto go home. She wants me to go home.

22 She wants to work today. They want her to work today.

23 We want to talk to you. Do you want us to talk to you? [ Use SITd AT |

24 They want to give you this money. She doesn’t want them to give you this money.
25 You [ JH ] want to rest. I don’t want you to rest.



19

UNIT ELEVEN

What do the verbs agree with in the following sentences?

EXAMPLE: NEIN + T & I(\vlé\l 9EI | ‘Suhas read Sangeeta’s letter’ —
feminine singular qer agrees with feminine singular 7’1% .

¢ TIAAT A 399 WTAT & a1 H farhrad & |
2 Tyt 3% Gaar arEd & o fqaer dea 1 oy
3 9 AT ¢ BF o Afe o & wR s @

v Tl & w2t aamm o1 fF @ Al FT = e

o FFH T A F AT AT AU TS F HTRT TAT |

s e el A TEfae Far F §r=r f =97 0w E |
v ISH T AT HA TS & AT F & TEGRT HT TaT |

¢ oI gt s JET 2

Complete the following sentences with a perfective verb:
¢ He ... fF e HE d gH agg wHe L L L [
0 T GIET 7 gH qU9 TRAR & IR | e fad=ed a1 . . . [
1 T AIEHT AR & g &9 Rl & %5 07 Su™ L L | [ & ]
R EAET A o & L fF QR ¥ AR aew e L [
[

i3 W TR el gR et S mwr a2 ST, AT |
o Ofagard T qHY w99 ... | T A g9 ... {6 g geenr dw .. o |

[T@AT; GodT; BIAT |
Translate:

15 What time did you get up this morning?

16 Who gave you those clothes?

17 Rishi asked his father about Suhas.

18 1 have bought some things for you.

19 Tasked her why she arrived late yesterday but she didn’t answer.
20 Someone sent me a letter about this.

21 Who told you that I needed money?

22 Iread both books very carefully.

23 They have brought some friends to meet us.

24 | saw that your brothers had taken my money.
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UNIT TWELVE

Connect the paired sentences with a conjunctive (ST etc.), as in the example.
Explain the form of all the verbs, both before and after the conversion.

EXAMPLE! B T3 | @A aATL 0 | > HY SR GTET dIT T |

» W ST WY | R AT IS

2 HA AT ATST T | A AL QISR W ol |

3 gAY fUsel % &1 98 T fham | 8w =9 < U |
v Ieeie GA & UBT | 3 92T W9l 9% &1 & 9 |

4 THEER A FYAT T (FRET | 399 29 o G SaR [QEg |

5 QR I & 918 ST ATRY | e e w1 A1y |
O FAS HI THA & I FTQ GSAT | §SF & IR FAT |

¢ W OGN | TR FIE A=BT A 38 ol ATRY |

< " gl & FaeT 918d & | ¥ J18% aaT A18d § |

0§ FIAT AT "{ * 9 o qUT IR SET ST & KK &9 *[Drop compound in conjunctive.]
Answer the questions:

22 AT foha o 2 2
82 37T AT T o7 IS / ST 2

83 3TTST T[T T ATT T sTof |7 STQA / HT STG9AT 2

w EATLT GHATE & FAT9 a1 I€ &Id7 &, AT 379 " af ugad & / T8adT & ?
2o, fo @ o fofid =2 qgTS AT FTH FA & / FLAT 2 2 e F el o ?
%, AT fohaa o 2 2

Make the underlined verb into a compound verb, choosing ST, 4T or T to suit the context;
and explain any changes of meaning and grammar ( e.g. regarding ne construction!).

2 HY 9 F HH g7 GHE G1C S |

re AT 7 FRET T FAET ST T GETE FIA
2 qTT AT fgeal THed g 2

0 T8 FIEmE FT 38R TET R T3 a8 d1ad ar |

2 HY UL & “HIWRT TeH” 9T | a9 g7 |
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2R 3T T TS GIET 31T I 1€ A9 FHL T GTF HT |
23 H9 I8 &I JIgHT el {47 | [ Why is no compound possible here? ]

24-29 Make up three sentences using ¥FAT and three using 9T, in various tenses.
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UNIT THIRTEEN

Complete the sentences:

¢ Sfe ST WRT BIeT TS g/ JgT ATdAT 3 . . .
X S QU HEAd Aqal #RA L L

3 S ST ST AT a%E AT & ..

... 99 &I 9dqTT AT 91T FH H AT |

4 ... J9 JF T FX U @l AT ATy |
... 9 8 S Al (T AR ATe g |

oC

What does the verb agree with?

o e AT fErgEAT ST AT SATTehT U1 qfaFd T &A1 AT AT1Y |

¢ TS qF T FH A g (v 89 e 921 FFAT - =T a9 2, fasfeat arn #3417 €,
TTET ST F T T ) ST E

¢ q¥ T g T QT @MI Al @1 A1y | Hes(l &l @1 =112y |

to W GIEAT UTH T Al & WX g el AT {5 T T FAT AT |

22 foRdT & ST IqTAT SR {5 38 AR 9 KT qHIE FLAT ¢ |

Translate:

12 You should not sleep here, you should go home.

13 Do you think we should complain about this?

14 You shouldn’t open the windows when it’s raining.
15 You’ll have to work hard tomorrow.

16 They called me so I had to run.

17 We have to learn at least 80 words every week.

Complete the sentences:

t¢ ST ATEHT TR A & AT AT E, . .
e, TS AT & T FEAEX AR G, Fe ..

R0 ST S HA ATIHT TH O @G, . .

2 .. S AT T =TT JIR HAT AT(EY |
R ... HR TS A9 AT o |

W ... I S H AR T FRT 2
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Explain all verb agreements, and answer the questions:

W FT Aead ¥ =wT fgrgwd =l |1 fHedT § 2 Fgl 0 2

2, {99 F9R § 19 93 2, 98 ATIRT HGT AT G 2

% T o skt T AT FTas TE ST T2aT, AT FAT A / FAT 2

29 T AT fgel § 9T FT &7 §iT [chance, opportunity] faeaT 8 2 & 2

¢ TIRT T8 IS A § fohd =T THT 97 2

% AT ATT 9k TT G / 9 Tg @ 2 SATTRT T¥T TTH hd T HIHT THET 2
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FOURTEEN

Explain the form of the verb:

;. AZ U XA faEar AT w@r P |
2 T R ¥ fuemd &7 S @8 |
3 3EH AR | Fw [RAT ST AR |
¢ ST fARTRT #9 g2 T o1, S9ET FeT AT WL 2
o T STosTo’To T @eRl q fagara foram o1 qehar 2 2
5 WX SATHT ST T AT A9 foT ST @7 2 |
Translate:
7  Hindi is understood wherever Urdu is spoken.
8  People who cross the road here will be killed.
9  Lots of new books are being written about Hinduism these days.
10 These new buildings were built (‘made’) last year by some rich shopkeepers.
11 Where should the luggage be put?
12a The students were told that they should complete this lesson by Monday.
12b The students will be told that . . .
12¢ The students are being told that . ..
12d The students should be told that . . .

Re-work the sentences in the passive, dropping the ‘doer’, as in the example:

EXAMPLE H+ 3§ &dm@T | > I8 &dT4T 4T |

%2

HLHTL o I ARM T AT o GLIe T qiehT feam a7 |

ww  7g fohare 89 fumd are fawt o1 |

G
%8

fRET o ST &l =TT g |

HTST qeoig ZHA TSR ST JTSIT Hoo(| Al o7 |

9 IHET THS a1 | FaT al | [use subjunctive to give the sense ‘should be told’]

34

HLATIF = gH A ¥ faor faur |

Replace the passive transitive verb with an active intransitive verb (see page 180):

1 39 TH § g a%g HI RS I S g |
R0 SET 95 Wi @7 o7 FgT AQ Figd qg A |
2% ETATS F G & TAT TS a9 GIAT ST 2 |

R

N~ fa N L RSN
SINBESIERZIENSIRS TN
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22 AR S Giel g1 U |

Add a ‘Let me/us...” sentence, as in the example:

EXAMPLE # off TR ard fhed T |Jedl § | 7% &9 &
@ EH AT T FRET AT AT & 1. ..
e, IR, § T O 9T AR AT ARATE
% &H AN 3% ST HEAT AT E 0L
2o e, § SAAT § a1 FAT ARATE 1 .
% BH I AN T 75 GHT 34T A8 8 1. . .

Complete the sentence with a ‘began to’ expression, using the indicated verb + &HT :

% S G ST AL T AT A L [ZEAT

30 STE ET TIAT F B $o7 fomr 98 1 fohr | [feearr]

3 S T A AT ATE I8 AT g0 g ar L L. [T

32 SN § o § fAshefeh? €9 1 X = &7 A a7 . . . [d24T]
33 O IATT (AT il a9 F41 T arer o . . . [foresrad wA7)
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UNIT FIFTEEN

Convert to ‘keep on doing’ construction by adding T or ST, as in the example:

EXAMPLE 79 92T et 3T € | > {9 72y fet aar smar g |

g

2
2
g

o,

AT =F9Tiaat =TT g |

ot g2 =19 & o= # forsRraa &t o |
BIC HT AT 9aT & T =T ST F#4 feeamar € |
HAT ST SITIRT €197 e T I e g1 |
ST T TR 917 o o1 § G |

Convert to the habitual past construction (perfective participle + #%AT), as in the example:

EXAMPLE &l HHY HETE @ad | T2am 91 | > {hefl qwa qard @a= § @1 F=ar 47 |

g
9
¢

g

%0

I el arel SfT e ogd Head el of |

§ QT ST &7 &€ 7 FTg QAT T T0GT 47 H1 J qAam o7 |
ST AT a8 q& A9 A2l qTdT 97 ar q S § g1 Fa ! AT |
H T TS 6 agd I g1 AT T (AT S T&e STar 4T |
HIWATR T o7 ST T 9 gHAT @I AT =T |

Translate:

11
12
13
14
15

He keeps looking at me [say ‘in my direction’]. What should I do?

If you go on making this mistake I won’t forgive you! You should think about this.
They told me that they used to live in London. [Use perf. participle + &zAt]

My house was far from my office so I used to go to work by train. [ditto for ‘go’]
Whenever you get the chance do come to our house. [ditto for ‘come’]

Explain all the grammatical constructions in these varied sentences:

%
809
4
&S
20
Bk
R
W
W
BiS

TR T F F AT ITH WS & F5 a1 7 T |

faT e 73T U T S A9 g |

S fF # % a1 FE T g, R AT F fede F 99 W =rfen 7 |
TR S IR ATeHT & 7 5% ={ied § &g @19 qfvwd a2l g1 91fey |

SAET g FT HT ATl T G # = oF17 T T STEHT QT TEIe-ar awar g |

AT T fq=medt @ ST 9 ST fohefl 947 a7 qHoTeoTo & |1 19 AT =124l 2 |
ZAY =9 qIg AT FTET Al @7 STCHAT; AR il Fgl o a8 qIAT FTET a1 o1 |
IIHT # g AR G A% A&l HEAT AT(EY AR # qF TR Tl g | T3 ST &l 96 el |
S T Q39 AR WER[ Hl Agl @Rl q9 T 1% § AT TR (A 89T ST |
ST ® Z7ET o g/ fohaeT s feam ST @1 @ 91§ AT o9 A A & {9 e
T T @ AT | WY WEE q AT A 99T ¢ !




